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Exam Name - Certified Master Agile Tester (CMAT)™
Exam Code - CMAT-010

Sample Exam

(Question): Which of the following statements is from the agile manifesto?

A): Individuals and interactions over contract negotiation

B): Individuals and interactions over comprehensive documentation
Q): Individuals and interactions over processes and tools

D): Responding to change over contract negotiation

~ A~ A~ A~

(Correct): C

(Question): Which of the following statements is not from the agile manifesto?

A): Responding to change over processes and tools

B): Responding to change over following a plan

C): Customer collaboration over contract negotiation

D): Working software over comprehensive documentation
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(Correct): A
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(Question): What is Agile?

(A): A Software Development Methodology

(B): A Process Framework with standard set of process prescription
(C): A philosophy; a way of working based on simple principles
(D): Delivering Software frequently

(Correct): C

(Question): Which of the following statements paraphrases a value from the agile
manifesto?

(A): Paper documentation should be light weight

(B): Daily standup meetings should be 15 minutes or less

(C): Working software is the best way to mitigate project risks
(D): Welcome changing requirements, even late in development
(Correct): D

(Question): Which of the following statements is not a paraphrase of a value from
the agile manifesto?

(A): Working software is the principal measure of progress

(B): Close, daily cooperation between businesspeople and developers
(C): Continuous attention to technical excellence and good design

(

D): Prioritized backlogs are maintained by a product owner

(Correct): D

© Global Association for Quality Management (GAQM)



GAQM S

w
Global Association for Quality Management U\

(Question): How is Agile planning different from the traditional approach to
planning?

(A): Agile planning places emphasis on the plan

(B): Agile planning places emphasis on planning and is iterative
(C): Agile is a process oriented approach

(D): None of the above

(Correct): B

(Question): True or False: Agile deals with the age old problem of having too
much to do and not enough time by doing less.

(A): True
(B): False
(Correct): A

(Question): Which approach is adopted by Scrum?

A): Unique

B): Iterative

C): Empirical

D): Retrospective

—_~ A~ A~ —~

(Correct): C
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(Question): Who owns the product backlog in Scrum?

(A): Team Member
(B): Product Owner
(C): Scrum Master
(D): Scrum Developer

(Correct): B

(Question): Which type of meeting is held to gain agreement on the product
backlog items that will be included in sprint?

A): Sprint Review Meeting

B): Sprint Retrospective Meeting
C): Sprint Executive Meeting

D): Sprint Planning Meeting

~ A~ A~ o~

(Correct): D
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